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162l BHAIZH] H=Zo)AEN L2
(‘= Xl CLASS 8)

we | s2 L EE e LIS s+ |samal HEET S8 | pama| un
1A 1 2A4Y 3] 327 | 162 | 87 | 4% | S 19 | 29l | 39 +H e
2eA CLASS 8 1 1 1 1 1 1 1 7 5 15 50 60 3000
NE2 CLASS 8 1 1 1 1 4 5 5 25 60 1500
Ax= CLASS 8 0 5 0 60 0
XY CLASS 8 1 1 2 5 10 60 600
2432 CLASS 8 1 1 1 3 5 15 60 900
294 CLASS 8 0 5 0 60 0
22t CLASS 8 1 1 1 1 1 1 6 5 10 40 60 2400
SRR CLASS 8 1 1 1 3 5 15 60 900
3= HEy CLASS 8 0 5 0 60 0
WipS) Qb e CLASS 8 1 1 1 1 1 1 6 5 5 35 60 2100
A HolD| CLASS 8 1 1 2 5 10 60 600
A0 =] CLASS 8 1 1 5 5 60 300
N2 248 = CLASS 8 0 5 0 60 0
2AD] 22X CLASS 8 1 1 1 1 1 5 5 25 60 1500
N2 PN CLASS 8 1 1 2 5 10 60 600
N2 2 =l CLASS 8 1 1 5 5 60 300
A s CLASS 8 0 5 0 60 0
ol PP E=3 CLASS 8 1 1 1 1 1 5 5 25 60 1500
N2 0l=3| CLASS 8 1 1 2 5 10 60 600
e AsE CLASS 8 1 1 5 5 60 300
A0 ol&& CLASS 8 0 5 0 60 0
Ay E CLASS 8 1 1 2 5 10 60 600
X & A CLASS 8 1 1 1 3 5 15 60 900
S8 CLASS 8 1 1 1 3 5 15 60 900
aag CLASS 8 0 5 0 60 0
ES RSP CLASS 8 1 1 1 3 5 15 60 900
EIESEe CLASS 8 1 1 1 1 4 5 20 60 1200
=& CLASS 8 1 1 5 5 60 300
HE=2 CLASS 8 0 5 0 60 0
EHEH CLASS 8 1 1 1 1 1 5 5 25 60 1500
INEE=] CLASS 8 1 1 1 3 5 15 60 900
S&=4A CLASS 8 0 5 0 60 0
0l&=3 CLASS 8 1 1 5 5 60 300
XISt &k CLASS 8 1 1 1 3 5 15 60 900
St=& CLASS 8 1 1 1 3 5 15 60 900
gE3| CLASS 8 1 1 5 5 60 300
E~psiely CLASS 8 0 5 0 60 0
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) H162] BHA|ZH] ™= %ol QIEr LI
(Xt CLASS 11)

o | e= CREE 24 EqEE o leom HEEE 45T [ qoma | w4
°= [Aulauaw] 2z 162 | 82 | 42 B I L iR T
22F CLASS 11 1 1 1 1 1 1 1 7 5 15 50 60 3000
olss CLASS 11 0 5 0 60 0
HH & ER CLASS 11 1 1 5 5 60 300
Fsd CLASS 11 1 1 1 1 1 1 6 5 10 40 60 2400
Hal= CLASS 11 0 5 0 60 0
2HE CLASS 11 1 1 5 5 60 300
gl CLASS 11 1 1 1 1 1 1 6 5 5 35 60 2100
a2 CLASS 11 1 1 2 5 10 60 600
e CLASS 11 1 1 5 5 60 300
EApURS) CLASS 11 0 5 0 60 0
olg 4 CLASS 11 1 1 1 1 1 5 5 25 60 500
Bt CLASS 11 1 1 2 5 10 60 600
CLASS 11 1 1 5 5 60 300
CLASS 11 0 5 0 60 0
CLASS 11 1 1 1 1 1 1 6 5 5 35 60 2100
CLASS 11 1 1 5 5 60 300
CLASS 11 1 1 1 3 5 15 60 900
CLASS 11 0 5 0 60 0
CLASS 11 1 1 1 1 1 5 5 25 60 500
CLASS 11 0 5 0 60 0
CLASS 11 1 1 2 5 10 60 600
CLASS 11 1 1 5 5 60 300
CLASS 11 1 1 1 1 1 5 5 25 60 500
CLASS 11 1 1 2 5 10 60 600
E=Rll AE= CLASS 11 0 5 0 60 0
Mg Mes CLASS 11 0 5 0 60 0
] R CLASS 11 1 1 1 1 1 5 5 25 60 500
B -1 CLASS 11 1 1 2 5 10 60 600
E=Rll ol CLASS 11 1 1 5 5 60 300
IEM CLASS 11 0 5 0 60 0
olsHe! CLASS 11 1 1 1 1 4 5 20 60 200
ole CLASS 11 1 1 2 5 10 60 600
EE CLASS 11 0 5 0 60 0
olg® CLASS 11 1 1 5 5 60 300
E=E ) CLASS 11 1 1 1 1 4 5 20 60 200
T CLASS 11 1 1 2 5 10 60 600
PEX CLASS 11 0 5 0 60 0
&8 CLASS 11 1 1 5 5 60 300
REF CLASS 11 1 1 1 1 4 5 20 60 200
%z CLASS 11 1 1 2 5 10 60 600
Ag? CLASS 11 1 1 5 5 60 300
b1 CLASS 11 0 5 0 60 0
AsE CLASS 11 1 1 1 1 4 5 20 60 200
A0 CLASS 11 1 1 2 5 10 60 600
[ESES CLASS 11 0 5 0 60 0
ates CLASS 11 1 1 5 5 60 300
PHP CLASS 11 1 1 1 1 4 5 20 60 200
HHEI = CLASS 11 1 1 2 5 10 60 600
e CLASS 11 1 1 5 5 60 300
AEFE CLASS 11 0 5 0 60 0
B e CLASS 11 1 1 1 1 4 5 20 60 200
=X CLASS 11 1 1 2 5 10 60 600
SldE CLASS 11 1 1 5 5 60 300
BEMIE CLASS 11 0 5 0 60 0
CLASS 11 1 1 1 3 5 15 60 900
2ol CLASS 11 1 1 5 5 60 300
Az CLASS 11 0 5 0 60 0
CLASS 11 1 1 2 5 10 60 600
CLASS 11 1 1 1 1 4 5 20 60 200
CLASS 11 1 1 2 5 10 60 600
CLASS 11 1 1 5 5 60 300
CLASS 11 0 5 o 60 0
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H162] BHA|ZH] H=Z 0 AEFCH 2]
(64X CLASS 1)

Mg CFXH A AAXxE L

M =a B 24 | 2axa M= °r S| g A

e e eH= ol ol off ©T7 |°¥° T [ e ° o | + = Cha =
17'" =1 27'“ = 37'" =1 1'I'| Z'I'I 3'I'| +thlEsT

Molgt | cLass 1 1 1 5 5 15 60 900

219 |cass1| 1 1 1 3 5 15 30 60 1800

ool |cass1| 1 1 p) 5 10 20 60 1200

3200 | cLass1 0 5 0 60 0




2400

900

300

900

300

1800

60

60

60

60

60

60

60

60

40

15

15

30

10

15

(64Xt CLASS 2)

wl (<o
&l | R

IO

<
TN

ofldz2|a
1419 | 241 | 3A1

1

1

1

o
=]

ujo

CLASS 2

CLASS 2

CLASS 2

CLASS 2

CLASS 2

CLASS 2

CLASS 2

CLASS 2

B
0

Mgt

=%

g0l

ZCt

2
=]

Ol Het

4
b

Kk
0

-

]
0

=Pl

=Pl

NZ




AL

H163]

(64X CLASS 3)

2700

300

600

1500

600

300

1500

600

300

600

2100

300

60

60

60

60

60

60

60

60

60

60

60

60

60

60

60

60

45

10

25

10

25

10

10

35

10

15

ofldz|a

1

1

1

1

ujo

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

CLASS 3

5O
0

2=

o

xJ
R0

:

3
=l

0l

2
=]

2D\,

Eqilby

ol0I+t

3
RO
1]

q

t

]

n0

By N Rl

4
b

=Pl

=Pl

=Pl

=Pl

=P

&

=2
=

=Pl

iKJ

ol

-

K0




AL

H163]

(64X} CLASS 4)

1200

300

300

1200

2700

1800

300

60

60

60

60

60

60

60

60

60

60

20

20

45

30

10

15

ujo

<lo

4lo
Ml

ll-—lur

8%

ofldz|a
141 | 241 | 3A1 &

1

1

o
[=]

ujo

CLASS 4

CLASS 4

CLASS 4

CLASS 4

CLASS 4

CLASS 4

CLASS 4

CLASS 4

CLASS 4

CLASS 4

5o
0

orgls

k

0

=
[

=
=

Rk

lll
K

e

(k=

-

ol
K-
n0

4
4

=Pl

=Pl

=Pl

=Pl

N2

=Pl

=Pl




H162] BHA|ZH] H=Z 0 AEFCH 2]
(64X} CLASS 5)

rg | 49 | s3 oo EEEHRE oo sams 22T {STER | gama | aa
1A 2AIY [3AY]| 82 | 42 | ES 191 | 291 |39|+HEHS
24 223 CLASS 5 1 1 1 1 4 5 10 30 60 1800
= olal & CLASS 5 0 5 0 60 0
oA HHE CLASS 5 1 1 5 5 60 300
=yl =470l CLASS 5 1 1 1 1 1 5 5 15 40 60 2400
olE &5l CLASS 5 1 1 5 5 60 300
3| 0l = TH CLASS 5 0 5 0 60 0
=P & 0f A CLASS 5 1 1 1 1 4 5 5 25 60 1500
4| 0l st CLASS 5 1 1 2 5 10 60 600
=P 0101& CLASS 5 1 1 5 5 60 300
3| ISR=E CLASS 5 0 5 0 60 0
=wl HA KX CLASS 5 1 1 1 1 4 5 5 25 60 1500
ol 2dANE CLASS 5 1 1 2 5 10 60 600
=P g5l & CLASS 5 0 5 0 60 0
B g+&0l CLASS 5 1 1 5 5 60 300




H162] BHA|ZH] H=Z 0 AEFCH 2]
(64X} CLASS 6)

T ERCEECE PO N B EC Bl P

== haglaagzaglsz] 4z (22| "7 |77 [ 1 [ 29 39|+ ES =T
CLASS 6 1 1 1 1 1 1 6 5 15 45 60
CLASS 6 1 1 2 5 10 60
CLASS 6 1 1 5 5 60
CLASS 6 0 5 0 60
CLASS 6 1 1 2 5 10 60
CLASS 6 1 1 5 5 60
CLASS 6 1 1 1 1 4 5 5 25 60
0l¥= CLASS 6 0 5 0 60
a2 CLASS 6 1 1 1 1 4 5 10 30 60
022 CLASS 6 1 1 1 1 4 5 5 25 60
oqEF CLASS 6 0 5 0 60
X246 CLASS 6 1 1 5 5 60




H162] BHAIZH] H=Z 0 AEFCHZ]
(64X CLASS 7)

=2 ol 2|1 28 EHHE 2 |lzama HIgE™E ST L3I
1AY | 2AIY | 3HIY] 162 | 8% | 47 | A 191 | 291 | 391 | +HIEH=s
CLASS 7 1 1 1 1 4 5 5 25 60
CLASS 7 1 1 5 5 60
CLASS 7 0 5 0 60
CLASS 7 1 1 1 1 1 5 5 5 30 60
CLASS 7 1 1 1 3 5 15 60
CLASS 7 0 5 0 60
CLASS 7 1 1 5 5 60
CLASS 7 1 1 1 1 1 1 6 5 10 40 60
CLASS 7 1 1 5 5 60
CLASS 7 0 5 0 60
CLASS 7 1 1 2 5 10 60
CLASS 7 1 1 1 1 1 1 1 7 5 15 50 60
CLASS 7 1 1 1 3 5 15 60
CLASS 7 1 1 5 5 60
CLASS 7 0 5 0 60
CLASS 7 1 1 1 3 5 15 60
CLASS 7 1 1 1 1 4 5 20 60
CLASS 7 1 1 5 5 60
CLASS 7 0 5 0 60
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H162] BHAIZH] H=Z 0 AEFCHZ]
(64X CLASS 9)

~ ChX{ A AALES
A Ao =a e 24 |lz2axa mMEE s ST'SHE RSB Al
= o o oHd ol ol ol oT oHlHOT o o o R A aT =

1HY | 2A1Y | 3A1Y 191 | 291 | 391 | +HIEH=s

== 228 | CLASS 9 1 1 1 3 5 15 30 60 1800
=Pl 2t | CLASS 9 1 1 2 5 10 20 60 1200
=4 M2 | CLASS 9 1 1 5 5 10 60 600
N 0K | cLAss 9 0 5 0 60 0
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